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Fr5 [EE Sk S F 3 I H RAEHLR
1 1 31 Qsksksteskskstesketokokoieok 61 1 A AR
9 A A 31 0skspkonkkankk3 ] | A TR
3 Fit 320skkskskskkkkkk k%979 A 7R
4 1 7 B 31 0sksotskkkkkk 050 A TR
5 i 5 41 Tsksteskstosksksiokekokk 557 A 2R
6 {5t 4% 31 Qskskstsesketoskotokokakok§ 39 R1 2R
7 K 51 2skskskssketskotokokaeok 5 1 0 R1 &R
8 % = 32 sskewseskatoskoiokokekok 927 R1 AR
9 aR16 5% 31 Qskskstsesketeskotokokakok 782 R1 &R
10 g 31 Qskskstskskstesketokokakeok 52 | R1 &R
11 E3 320skksksksketskokokokakeok G40 R1 &R
12 F e 31 Qskskstsesketeskstoskokatok 1 27 R1 2R
13 S 31 0kokkkak ik k823 R1 TR
14 ] 3] Qkictliotkok k823 R1 RS
15 e 31 Qskskstsesketeskotoskokakek (029 R1 &R
16 B ez B3 2:kkskssketskokokokakok 798 R1 &R
17 VO g% 340k kokok kx2S R1 TR
18 B B 310%kkkkkkikikk518 R1 TR
19 ARAE 52 2sksksksksketskoiokokaok 1 06 R1 i
20 T4 320sksksksksketesketokokekok 9 54 R1 AR
921 2% 362ktkiottokiotok k523 R1 UEER
22 YA 31 0skskksoksrkokkd 1 1 R1 %
23 25 Y 420skdoksoktokok k8 1 X N1 HAR




